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This paper consists of TEN (10) questions. Answer ALL questions in the answer
booklet. (100 Marks)

1.  Solve the following to find x or the range of x.

a) 5%-2) < (43 (5 marks)
b) x2-2x-52>=3 (5 marks)
c) |6x—5[<2 (5 marks)

(15 marks)

2. A senior tax officer is paid RM 60 per hour while a tax assistant is paid RM 20
per hour. A firm received a bill of RM 540 for the tax advising service used a few
days ago. Suppose that the assistant worked 5 hours less than the senior tax
officer, how much each of them are charging the firm? (5 marks)

"3, "Khadeeja started a savings account with RM 1000 depositin the first year. Inthe

second year, she deposits RM 3000 and followed by RM 5000 in the third year.
Every year, she will add RM 2000 into her savings account. Assuming there is
no interest payment on saving, what will be the total amount of her savings after
20 years? (5 marks)

4. Giventhat f(x) = x? — 3 and f[g(x)] = 4x* — 4x — 2

a) Find g(x) (5 marks)
b) Evaluate g(—4) (3 marks)
c)  WhLFGO)] = —x% + 7, find h(x) (7 marks)

(15 marks)
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5.

Hana, Fathiah and Safiyyah crave for cakes. One day, they all went to a bakery
selling various types of cakes. Safiyyah bought 2 slices of chocolate cake and 1
slice of strawberry cake and paid RM 19 while Fathiah bought 1 slice of
cheesecake, 2 slices of chocolate cake and 2 slices of strawberry cake and paid
RM 35. Hana bought 1 slice of cheesecake, 1 slice of chocolate cake and 2 slices
of strawberry cake and paid RM 29.

Assume that the price of a slice of chocolate cake, cheesecake and strawberry
cake are represented by x, y and z respectively.

Based on the information above,

a) write the system of linear equation to explain the scenario (3 marks)

b) based on your answer in (a), write the equation in the form of matrices

equation (2 marks)
c) solve for X, y and z using matrices operation (10 marks)
(15 marks)

The polynomial f(x) = x* + 4x3 + ax?® + bx — 12 has (x + 2) as its factor and a

Decompose the fraction below info its partial fraction.

3x% - 22 7
(% — x—=2)

(10 marks)
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8. Find the exact values of x and y given the triangles below.

a)
X
Tcm
457 [
y

(4 marks)

b)

y

(4 marks)
(8 marks)
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A and B is measured along the circle when the blades rotate with centre C located
at the centre of the fan.

a) Find the distance between A and B.if the angle ACB is 120°. (4 marks)
b) Find the area of the sector ACB. (3 marks)
(7 marks)

10. Determine the continuity of f(x) for each of the following.

2

ay flx)= Satx = 2 (5 marks)
2x-3

by f(x)= ——atx = 2 (5 marks)

(10 marks)

***END OF QUESTION PAPER™*



Basic Mathematics (FMAT0114)
July 2022 Final Examination

Formula

1T x ol e yath

Vx = x
a3 =

L
z
1
a

Properties of logarithms

log,(xy) = log,x+ log,y
X

log, (;) = log,x —~ log,¥y

log, x" =n log, x

log. a
log. b

logpa =

Properties of equations and inequalities
involving jax + b|

lax + b] = pis equivalent to
ax+b=porax+b= —p

lax + b| < p is equivalent to
-p<ax+b<p

lax + b| > p is equivalent to
ax+b<—-porax+b>p

Arithmetic progression

Th= a+(n—-1)d
S, :g[Za-[—(n——l)d}
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Geometric progression

N
a(l—r")
Sy = ——~
n 1—r
Matrices
AX=B
A= - adj ()
T
Adj(A) = [Cy]"
Cyj = (—1)"M;
X =A"1B

Partial fraction
If Q(x) has a form of (ax + b), then

P(x) P(x) A i B
QX)) (x+a)x+b) (x+a) (x+Db)

PeO  PX) A B
0 Ex+ b2 (x4 Db) | (ax +b)2

IfQ(x) has a form of (ax® + bx + c) then

Px) P
Qx) (x—d)(ax? +bx+c)

¢ A Ax+B
T x~d) (ax? +bx+c)

If Q(x) has a form of (ax? + bx + ¢)¥ then
P(x) P(x)
Qx) (ax? + bx + c)2

_ Ax+B .
~ (ax? +bx+0)

Cx+D
(ax? + bx -+ ¢)?
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Trigonometry
. opposite
sinf = —m-——
hypotenuse
adjacent
c0sf = ———
hypotenuse
opposite
tan@ = Jf—-——
adjacent

Angie to radian

Xﬂ'
** 180

Length of arc
S=rd

Area of a sector

i<
A= 57"29
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